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1| BRE EBKE 2 28 3 33 61
2 |FEE BX HRERKXE 13 3 1 50 53
3 |KsF & RMEEKRFE 3 7 1 33 18 4 44
3 |& FEiE EBRKRE 5 16 4 28 44
5 |=t8 g HAXZE 2 40 40
6 |#iE H— HAXZE 4 19 7 16 35
7 |fEH &% KIRZEFKRE 7 11 6 20 31
8 |# X RAMEEXRE 3 24 24
8 |Hh B BEEREXRE 5 24 24
10 |&5H A BEEREXRE 1 13 8 9 22
11 |#BA FEsh HAXZE 6 13 11 4 17
12 |[5% IFF BEEREXRE 32 1 8 13 14
13 |[#X Rt HAXZE 20 3 9 10 13
13 |BR¥F 1T hRKE 2 10 23 3 13
15 |hniE ¥ IEREKXRE 9 7 12 4 11
16 | KAR & EBKE 10 5 14 4 9
17 | +BF IER BEfREXE 5 4 15 4 8
18 [JEN BN hRKE 4 5 30 2 7
18 |[fH HAXZE 10 7 7
20 |RRE K& EBKE 13 4 4
20 [FiE EXER EBKE 16 4 4
20 [E@ #§ JEREXRE 17 4 4
20 |FE =t JEREXRE 19 4 4
20 |7 B BAXE 20 4 4
25 |fik EE RAEEKXRE 11 3 3
25 |H#EH —4% BAXE 12 3 3
25 |fnHE REE BAXE 14 3 3
25 iIE FH BEEREXRE 15 3 3
25 |¥H {E8 IEREKXRE 16 3 3
25 |BE BX EBKE 17 3 3
25 & FC RMEEKRFE 18 3 3
25 [#MF & KIREEKRE 19 3 3
25 | BA BRKEEXRE 8 1 23 2 3
25 |/hdE EA MHKRE 21 3 3
25 |HH Fz BEXE 22 3 3
25 [{BE FIR BfAXE 6 3 3
37 |AH B EBKE 21 2 2
37 |[#ER Ht BERATXE 22 2 2
37 B3I &k MAEERE 24 2 2
37 |ER #E BAXE 25 2 2
37 |FEK g HAXZE 26 2 2
37 Mt FHiE EMKE 27 2 2
37 [#EK k& FERKE 28 2 2
37 |3&EIR BhiE HAXE 29 2 2
37 iR EEFE FERKXE 7 2 2
46 |kl Eik KIREEKRE 31 1 1
46 |EBEl B hRKE 33 1 1
46 |FH & hRKE 34 1 1
46 |8l HX EMXKE 35 1 1
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